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BEMEO(FE B EEREN 12,000,000 12,000,000
ERBEER 650,000 SEARY LSS ICEE A B EEREAND
FEMBQ(EEBREERE) 11,350,000 12,000,000
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HEIRA 10,526,000 [(ERRE 10%+EAEFEL18%) —2=14%]
HE5mEER 2,227,000
e apikei 0 8,299,000
[Fr#E#ERR]
ELREERR 380,000 380,000
ERES 199,200 16,600 x 12/ B
#HER(EEESR) 676,400 =#4% x 9%
EREERIE 630,000 ERBRARGEESTHE, TiLURLSE
HREEERE- N EE) 526,300 =#&% x 5%
INEE 1,209,200 1,582,700
=5|FE () 10,140,800 1,810,464 6,716,300 915,760 = —3,424,500  —894,704
FER®H 1,014,080 671,630 =18 x 10%
EAMERTR 71,000 EHE 21,0000 KE¥50,000M
BAEER 455,000 = (BZMBDO—2905H) x 5%
hEsEt 3,279,544 1,658,390 -1,621,154
HRXZILEE 829,200 2,405,400 1,576,200 |=ft S RIEFHERR x 2
=5| ~44,954| /A F R EF vy a0 —RELE
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